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1. Consider a linear map G : P»(R) — P»(R) given by G(u) = u + (z + 1)u/. Which of the
following spaces is invariant under G?

(a) Wi ={ue P(R): u(—-1)=0},
(b) Wa = {u € P(R): u(0)=0}.

(”’) [ef u € W|. e well c,/N,JL ((, G{%) Ias 4 be in Wl.
Ld— s m’ée/ = G(w) To CLULL ('F Lré" W; ) we MAU( fo oécoL

cf (1) = 0. e have
= G(%) = U {-()L-(")U(.

~—

(’W L:_L)
w(-) = «(-l) + (1) L) = ul-1).
=0
Recimse w EW jwe have w(d4) =0. Thus, wC1) =0,

s means v G W We conclude ot Wi ¢ twuanaet under f-

a?) [t u € WL_. e well (,j/\u,l(, 3y G(«) lhas 4 be in Wz,
LL{— s m‘éc/ = G{W) To C‘lu.cL (‘F U'é Wz.’ we VLQU( to QLCOL

o v(0)=0. e have
= GC(«,) = U +(n+')u(.

F(N‘ )(,:,O)
w(0) = «(0) + (o) W) = ulo)+u').

Becuse w EW, jwe have w(0) =0. Thws, w(0)= ().
All we v about w Hoat o i p»%m‘aﬁ sk thet w(@)=0.








































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































'ﬂu’s desn 't 9u-m‘mfw doat W'O)=0. Tn 10406/ Ve Can gtve =k
exra(‘u‘(‘ Q,MW.’(L: wn) = x.
Tha fumcjrm/t E"‘l‘”"?} H W, . How.emr} G(u) Jaecu‘i— #c(mﬁﬁ W,

I)e (aMmSe

6) = Gb) = o) =] £ O.
We cocdlude that Wy s net tvadent under W, .
































































































































































































































































































































































































































































































































































































































































































2. Let V be a vector space over F', and f : V — V be a linear map. Let A € F'. Show that the
set E={veV: f(v)=MAv}is asubspace of V and that it is invariant under f.

Z(Yro{ gc‘uen« (n Lec‘u.fk. IS














































































